WS 81

) X-y=50

Plsy)=xy
X =50ty

P(y) = (+y)y
P(Y)’ 50]4—72-_
p'ly)=50+2y=0

7=~ZS
Vi) X =25
P (7)= 2 >0

Swice P'(-25)=0 4 P'(-25)>0
P()') is mmmized wlea 71:-25

m P"Ddl‘l"’b O'F' xr: _625-

2) x+y=3¢ Play)= xy

y =36 -x PO = x(36~)
= BAX'/‘Z

P(»=3¢-2x =o

X =/8

POy - ] e

c—— ” .

g ‘ P s max\m | 2ed

ULCJ( Xx=/8 Q‘ y:[g

ble P'(x) As s:}n_f Frown
+ Jo — @ x=18.

_3 .. P=lo0
Mu+w=loo
W=lo0-24
A’{/‘,WJ :_,evgd
A(L) =L (too-20)
= looL-24*
A’l(i) = o™ Y4 =0

AL =25
lw =50

A”{-f):..l-’ <O
The plo“—o'r‘ land 12 Mo
whew L =254+ 4 =25 P,

h

b

b

Sz 2L H Ybh|=too
Ybh = 600~ 2b"
h=st'-1L

V= k"

\V/ = L3 (15!;'—-—%}}
V=15L-4)3
v'3154 2L 2 0

2 =15
b- =509
b= 5{=
‘r‘+5 —
S

v 1s(sv=) -5 (573)°

ﬁ/ = 250y7 [}?




6)

) =y dtf 3

y: 2x3-3x=12x on [."2/3] ’:—:;xs‘-‘,]xle T +

\/' ’57‘2“‘”"”7’:'0 Yu:,zx‘t-z‘lx =0 (o} = '
X*-x-2 >0 U lx-nse  yigeo
(x=2)(x+) =0 x=0 x=2  y()=-le
X=2 Xx:=-| has P-o. & @ (0,0) 4 (2,-16)

bC I AS S(- <

x| Y Y has abs max / ! JMI

-2 [ -4 of (-1,7).

-1 |7

2 -20 \l L\as KL’ Mg

3(-19 e (z2,-20).

) R X 5) )/z)ci—.’»x-_rl

£ 0> x> (x D (-9)*=0 P
o) Wiy el Vg =
-l T o
-1 (] ""

9)

y = (1 = 1 +400E) + L0000 = 3
x gb)=§ Bodt §(z) = § #Bdt = 1 +2(0)(3)+ 30

3'(9=£(v OER TR
9400 = £(x) 9°(3>)=F£73) = I

L) 4 S 1ac on (-'Z) 3) (o[o 3'[X)>O

- = _‘F(f)df ==l E) "f)= il Lch e,uaf o1
6)3( z)- S, :.{)( c i P l_'B
5(3) =3 | 5 ‘
j(‘i) = B8-3=%

’[)j has « Po T @ x=| b/e 3" As St‘gﬁ-".




10)

Flx) = fx[ 24-1)4t
F'lx) = (Zx’-l)l- 3x2

1)
x*+X  _ x(x+1)

y ) x)-'—,x +g (x—-g)(x -H)
Y has & removable fisec. @ x=-/

Y has ax NP% S a‘ts'c @ x=£&.




